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a) (1339)10=(......... )2-=(erren.. Yaovnoren. Yo(ovnrrnn )16

b) (14276)g=(......... T )a= (oo, 10 (oo )16
c) (A80)i=(......... )2= (v )a= (v, 6= (oo, )10

d) (1111011),=(......... = (e, T )10= (oo )16
e) (3213),=(......... )5= (oo )e= (oveenen. )10= (ovnevens )16

) (5774)1=(......... T G Ya(oveornn Yolovrernn. )16

9) (5774)=(......... )5= (oo VTN )10= (oo )16

h) (AB25)i=(......... )2= (v, )a= (oo )6= (oo )10
i) (1000101),=(......... =T )6= Ceovrnn. )10= (ovnevnns )16
i) (2231),= (e 2= (e, =T )10= (oveernns )16
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a) (125.625)10 =(......... I G Yaovrornn. Yooveernn. )16
b) (144.1)1=(......... )2-=(eerrn.. Ya(ovrn Yo(ovrnn )16

¢) (25.375)10=(......... )2-=(errre.. Ya(ovrnn Yo(overnn )16

d) (14.3)10%Covveeee)om=Core oo Yoo g )16

e) (1123.12),=(......... = G )6= (oo )10= (oo )16
f) (1110.101),=(......... )a= (v, )6= (oo )10= (ovrerens )16
g) (257.14)=(......... )5= (oo )a= (oo, )10= (ovrerens )16
h) (AB.8)=(......... )2= (oo )a= Coovn. )6= (oo )10
) (1101.1),= (......... )e= (oo )= Coovrnn. T G )16
i) (346.23)e=(......... )2= (oo )a= (oo, )10= (oo )16
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a) 5-7
b) -4+3
c) 4+3
d) -5-7

as Gl 0355 (slunys g 03 (dd 4l 3 1) IEEE 754 5 )il p by 15 55 s lielslast - 4

a) 54155 (single)
b) -12.3 (double)
c) 1048.15 (single)
d) -17.1 (double)
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a)
b)
c)
d)

419E0000

4311D900
C02E99999999999A
402970A3D70A3D71
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b)
c)

d)
€)

b)

c)

(sl oslin Ky 58

500 KB = (tvevieviininannns ) Mb = (i, ) b = (e ) GB
T YMB=(.oviiviininanns ) Tb

32768 b = (ciiiiiiiiiinnnn, ) KB = (ceviiiiiiiiinannn ) GB = ( ) TB
T YTb=(ieriireens )B

1500 word = (.evvvvvneenniennnns )doubleword=(................... ) nibble

16384 B =(.ccvvvevnianannnn. Yword = (eeevevvnineeeenn, Ynibble=(.......coeviil ) GB

500 KB =(\eveeeeninanannnn. )B=(oeeeiieenn, Yb=(riiiiii ) TB

(Wlodd el alel HUS 53 s ol )8 el B bl 1 el 5 S Jor 15 5 <¥slaa— 7
X (KB) + 50 (MB) = x(MB)
x (B) +y (KB) =500 (MB) + x (KB)
y(MB) + x (KB) =500.5 (GB)
2x (KB) + x (MB) + x(GB) = 1049602 (KB)
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